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SECTION A

Assertion (A): What marked capitalism from the very beginning was its
dynamism, its potential to grow, expand, innovate, and use technology and
labor in the best possible way.

Reason (R): Capitalism is an economic system organized to accumulate profits
within a market system.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is false.

(D) Assertion (A) is false, but Reason (R) is true.

Answer: (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

2. The impact of Sanskritisation is many-sided. Its influence can be seenin:
(A) Language only

(B) Literature only

(C) Drama only

(D) Language, Literature, Drama

Answer:(D) Language, Literature, Drama

3. Which of the following statements is not true for Green Revolution?



(A) Green Revolution was a government programme of agricultural
modernisation.

(B) It was largely funded by international agencies.

(C) The first wave of the Green Revolution package was received by Bihar,
Eastern Uttar Pradesh and Telangana.

(D) Green Revolution was targeted mainly at the wheat and rice growing areas.

Answer:(B) It was largely funded by international agencies.

4. Which of the following is/are the characteristics of Ecological movements?
l. Identity politics

Il. Greater exploitation of natural resources

[ll.Cultural anxieties

IV. Social inequality

(A) Only l and Il

(C) Only 1

(B) Only Il

(D) I, 11, 1l and IV

Answer:(A) Only | and I

5. Due to COVID-19 pandemic, Hundreds and thousands of workers worked
from home. Which of the following can allow work from home?

I. IT sector
. Bidi Industry

[1l. Maruti factory



IV. All Government firms
(A) land Il

(C) land 111

(B) land IV

(D) I, 11, Il and IV

Answer:(B) I and IV

6. Historically, all over the world, it has been found that there are slightly more
females than males in most countries. Which of the following factors made this
possible?

I. Women tend to outlive men at the other end of the life cycle.
Il. Girl babies are resistant to boy babies in infancy.
Gender-based families with a preference for sons.

IV. Gender-neutral behavior.

(A) 1, land Il

(C) land IV

(B) and 1l

(D) land Il

Answer:(D) I and Il

11. Which of the following do not belong to each other?
(A) Yadavs of Bihar and Uttar Pradesh

(B) Vokkaligas of Karnataka

(C) Jats of Punjab

(D) Khammas of Tamil Nadu



Answer:(D) Khammas of Tamil Nadu

12. Assertion (A): Prejudices refer to pre-conceived opinions or attitudes held
by members of one group towards another.

Reason (R): An opinion is formed in advance of any familiarity with the subject,
before considering any available evidence.

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A)..

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A).

(C) Assertion (A) is true, but Reason (R) is Oise.

(D) Assertion (A) is false, but Reason (R) is true.

Answer:(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

13. Assertion (A): The separation of religious and political authority marked a
major turning point in the social history of the west.

Reason (R): This separation was related to the process of secularisation or the
progressive retreat of religion from public life, as it was converted from a
mandatory obligation to a voluntary personal practice.

Answer: (A) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

14. The policy of liberalisation entails the participation in the which
aims to bring about a more free international trading system.

Answer: (A) WTO



15. Which of the following features is incorrect for alienation?

Answer: (C) People see the end result of their work.

16. Which of the following is/are true for New Movements?
|. They are global in nature.
Il. They are organised along class lines alone.

lll. Identity politics, cultural anxieties and aspirations are essential elements for
these

Answer: (C) I, lll and IV
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1. The measure of comparing the portion of a population which is composed of
dependents with the portion that is the working population is:

(a) Age structure of the population
(b) Sex ratio

(c) Dependency ratio

(d) Growth rate of population

Answer: (c) Dependency ratio



2. Assertion (A): Caste groups are endogamous, i.e. marriage is restricted to
members of the group.

Reason (R): Membership in a caste involves strict rules about marriage.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason (R) is true.

Answer: (a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

3. In every society, some people have a greater share of valued resources —
money, property, education, health, and power than others. These social
resources can be divided into three forms of capital.

Which of the following is not a form of capital?
(a) Economic

(b) Cultural

(c) Social

(d) Educational

Answer: (c) Social

4. Castes also involve sub-divisions within themselves, ie. Castes almost always
have sub-castes and sometimes sub-castes may also have sub-sub-castes. This
is referred to as a

(a) Class
(b) Division
(c) Kinship

(d) Segmental Division



Answer: (d) Segmental Division

5. Which of the following features is not an element of the policy of Apartheid?
(a) Denial of ownership of land

(b) Denial of South African citizenship

(c) Permission for mixed marriages

(d) Denial of formal voice in government

6. A nation is a peculiar sort of community. Choose the incorrect statement
about the nation..

(a) Hard to describe
(b) Hard to define
(c) Based on shared religion, language,

(d) It is a community of communities

Answer: (b) Hard to define

7. To assert a single national identity by attempting to eliminate ethno-national
and cultural differences from the public and political arena will be considered
as a/an policy.

(a) Assimilationist
(b) Dominant group
(c) State

(d) Diversity

Answer: (a) Assimilationist



8. Which of the following is true for a model of South Asian colonial city?
(a) Recreational facilities were not available
(b) Unplanned streets

(c) Civic amenities were accessible in the European towns of the South Asian
colonial city

(d) Cramped bungalows

Ans. (c) Civic amenities were accessible in the European towns of the South
Asian colonial city

9. Assertion (A): Urbanization in the colonial period saw the prosperity of
indigenous industries.

Reason (R): There was emergence of new colonial cities.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.
(d) Assertion (A) is false, but Reason (R) is true.

Ans: (d) Assertion (A) is false, but Reason (R) is true.

10. Assertion (A): The government has passed a number of laws to regulate the
working conditions in coal mines.

Reason (R): Many contractors maintain proper register of workers and take
responsibility for accidents giving all possible benefits.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.



(d) Assertion (A) is false, but Reason (R) is true.

Ans: (a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

11. What is not true for globalisation and liberalisation in the rural society?
(a) Non-participation in WTO

(b) Free international trade

(c) Opening of Indian markets to imports

(d) Competition from the global market

Ans: (a) Non-participation in WTO

12. Which of the following statements is true in the scenario of high fertility
rate?

(a) It takes more time to reach the replacement level.

(b) It takes less time to reach the replacement level.

(c) It does not impact the replacement level.

(d) The impact on replacement level cannot be determined,

Ans. (b) It takes less time to reach the replacement level.

13. Assertion (A): To call a strike is a difficult decision.

Reason (R): Managers may try to use substitute labour. Workers also find it
hard to sustain themselves without wages.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.



Ans. (a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

14. In terms of positive characteristics, tribes have been classified according to
their ‘permanent’ and ‘acquired’ traits. Which one of the following is a
permanent trait?

(a) Region, language

(c) Ecological habitat

(b) Physical characteristics
(d) All of the above

Ans. (d) All of the above

15. The sociological importance of contract farming does not include which of
the following?

(a) It disengages people from the production process.

(b) Indigenous knowledge of agriculture becomes irrelevant.
(c) It caters primarily to the production of elite items.

(d) It is ecologically sustainable.

Ans. (d) It is ecologically sustainable.

16. Assertion (A): Social movements are directed towards some broad goals.
Reason (R): It involves long and continuous social effort and action by people.

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A).

(c) Assertion (A) is true, but Reason (R) is false.

(d) Assertion (A) is false, but Reason (R) is true.



Ans. (a) Both Assertion (A) and Reason (R) are true and Reason (R) is the
correct explanation of Assertion (A).

17. _social movements strive to change the existing social and
political arrangements through gradual incremental steps.

(a) Reformist

(c) Revolutionary

(b) Redemptive

(d) Relative deprivation

Ans. (a) Reformist

18. Which of the following is true for caste system?
| Hierarchy

Il Achieved status

Il Segmental division

(a) I is false

(b) 1, Il are true

(c) I, Nl are true

(d) I, 1L, 11l are true

Ans. (b) I, Il are true

19. Which of the following makes dominant caste dominant?
(a) Land rights granted by land reforms

(b) Intermediate caste identity

(c) Large numbers converting to political power

(d) All of the above



Ans. (d) All of the above

20. Which term is applicable to foreigners, slaves and conquered people?
(a) Panchama

(c) Kshatriya

(b) Brahman

(d) Jati

Ans. (a) Panchama



